ANNOUNCED QUIZ #2 — ME 3030 — Section 001 — Fall 2025
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This is an open book quiz. You may use a four function calculator. An unsigned honors pledge will

result in a zero.

1. One type of nuclear power plant utilizes what is called a Pressurized Water Reactor (PWR)
which operates at a temperature of 315°C. Consider a power plant that uses a PWR, rejects
heat to a lake at 25°C, and produces 1.2 GW of power. If the power plant has an efficiency
that is 70% of the theoretical maximum efficiency, how much energy is rejected to the
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I HAVE NEITHER PROVIDED OR RECEIVED HELP DURING THIS QUIZ.
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